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Question 1
Question Type: MultipleChoice

A DHCP server allocates IP addresses to clients. Which of the following steps are required when configuring a DHCP server? (Multiple

Choice)

Options: 
A- Enable DHCP globally.

B- Configure the DHCP Option 82 field.

C- Configure the global address pool if the DHCP server based on the global address pool is used.

D- Configure the interface address pool if the DHCaP server based on the interface address pool is used.

Answer: 
A, C, D

Question 2
Question Type: MultipleChoice



MPLS uses LDP to provide different label distribution modes. Which of the following statements regarding LDP label distribution control

modes are false? (Multiple Choice)

Options: 
A- LDP label distribution can be controlled in ordered mode.

B- In ordered mode, when an LSR is the origin of a route, it can send label mapping messages to the upstream router initiatively and

does not need to wait for label mapping messages from the next hop LSR.

C- LDP label distribution cannot be controlled in independent mode.

D- In independent mode, an LSR cannot send label mapping messages to the upstream router before it receives label mapping

messages from the next hop LSR.

Answer: 
C, D

Question 3
Question Type: MultipleChoice

Which of the port mirroring modes are supported by Huawei S series switches? (Multiple Choice)



Options: 
A- Local port mirroring

B- Remote port mirroring

C- Global mirroring

D- Flow mirroring

Answer: 
A, C, D

Question 4
Question Type: MultipleChoice

Which of the following statements regarding Network Address and Port Translation (NAFT) and No Port Translation (No-PAT) is true?

Options: 



A- After NAFT translation, all packets are from the same IP address for external users.

B- In No-PAT mode, only the transport layer protocol port number can be converted.

C- In NAFT mode, only the network layer protocol address can be converted.

D- In No-PAT mode, the network layer protocol address can be converted.

Answer: 
D

Question 5
Question Type: MultipleChoice

The NAT address pool configuration command is as follows. What is the meaning of no-pat?

Options: 



A- The address is not translated.

B- The interface is multiplexed.

C- The source interface is not converted.

D- The destination interface is not converted.

Answer: 
C

Question 6
Question Type: MultipleChoice

Which of the following statements regarding the firewall interzone security policy is true?

Options: 
A- The interzone security policies are arranged in the order of the match, the listed first is matched preferentially.

B- The interzone security policy with the smaller ID is matched preferentially.

C- The interzone security policy with the larger ID is matched preferentially.



D- The interzone security policies are listed automatically based on sequence numbers. When the order is changed, the number is

changed.

Answer: 
A

Question 7
Question Type: MultipleChoice

MPLS supports multi-layer labels and connection-oriented on the forwarding plane, therefore it is widely used. So Which of the following

is not the cause for MPLS deployment?

Options: 
A- Wide recognition by vendors

B- Traffic engineering capabilities

C- Simplifying route query on software-based routers

D- Using VPN services



Answer: 
A
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